Lessons 4.10 and 4.11
Additlonal Practice

1. a. Messenger Service B: £1 less

b. Messenger Service A $6.50 less
C 12 milles

2. 3. nio solutson
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The graph shows that the lines are

parallel. Since parallel Iines do not
Intersect, the system of equations
does nod hawve a solutlon

3. a. (22, 510)

b. Mo solution; the lines have
the same shope and different
¥-Intercepds, so the Hnes are

parallel.

4. a. Parallel: the lines have the
same shope of 0.4 and different
F-Intercepis.

b. Interseciing: the Hnes have
different slopes.

¢ ldenticak: the ines have the
same slope of -4 and the same
y-intercept of 5.

d. Farallel: the lines have the
same shope of £ and different
F-Interces.

5.3 y+3=—§x—12

b.y+ 5 =§{x+ 6
3

Cy+d=—+Fx-1)
dx=-2
e y=-11

G.a k=-n b. k= -4
C k=-8 dk=-a
e. k=1

f. Answers may vary. Sample: If the
graph of ¥y = mx + kcontains
i, by, then k= g.

i
k

b. 14
d. L

e e

a. 40
. Sb
e k=ag
f. Answers may vary Sample: If the
graph of ¥y = mx + k contains

{a, 0, then k = —ma.

Lesson 4.12 Additlonal Practice

1.2 (5 -2 b. (-3, —4)
¢ (5, 13] d. [q‘}-{}]
. fz%} £ (12, —8)
2. a. §2.50 b. $1.50
3. a3 P-2 6 b.x= -2
L y==6 d. —dx+ Ty =150

4 y-B=-3x+5,y-8=3x +5)

5. ANSWES may vary. sample:
y=gr+2

6. 3. 52.25 b. 575

€. $3.00 d. §1.50
8. ANSEWETS May vary. Samples:

1 cofiee and 10 bagels, 2 coffess
and 8 bagels, 3 coffees and

G bapels, 4 coffees and 4 bapels
7. 8. id,9) b. (—&, 38]
C {(—3,-2) d. (2, —6)
e. {1,5) f. 6, -3

8. a.(—2,6)
¢. no solution

1 2
b- (Er i)



